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1. (10 points) Find the global extrema of the function f(x) = zv/2 — z on the closed mterval [-2,2]
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2. (10 points) Find tﬁgbal extrema of the function f(z) = z*+ 1:1:_ on the open interval (0, o)
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1. (10 points) Find the global extrema of the function f(z) = 2 — 3z on the closed interval [0, 2).
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2. (10 points) Find the global extrema of the function f(z) = ze® on the open interval (—5, co).
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1. (10 points) Find the global extrema of the function f(z) = z + = on the closed interval [%, 3].
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2. (10 points) Find the global extrema of the function f(z) = ze~>* on the open interval (0, c0).
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1. (10 points) Find the global extrema of the function f(z) = sin*(z) on the closed interval [r, 2x].
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2. (10 points) Find the global extrema of the function f(z) = 2z° +1% on the open interval (0, co).
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